C.L. MACHINERY BRAKE
1'_2" 1'_2"
C.L. BEARING-B1 C.L. BEARING-B1
(INBOARD) (OUTBOARD)
NEW 13" MACHINERY BRAKE
MACHINERY BRAKE SHAFT (ELECTRICAL ITEM)

(SEE DETAIL THIS SHEET) SHAFT COLLAR (SEE NOTE 4)
DRILL AND REAM BRG. BASE, DRILL AND REAM BRG. BASE,
SHIMS AND SUPPORT STEEL SHIMS AND SUPPORT STEEL

FOR (4) 3/4" DIA. H.S. BOLTS FOR (4) 3/4" DIA. H.S. BOLTS
(SEE NOTE 3) (SEE NOTE 3)
58A
COUPLING-C1B |
_ <
HALF O ||© & TS | Bla O] ®
= [ wol|E KEEPER PLATE
& 8l S = e Y == S
g | | °| HEF 1
- T — ] — T
| & I | — DN | P
___D \ |;____/i U ~ _
J L ! S 1 - 4
< 1 | a 11— <
e @ | @ T & S Te=" O5ls
s e e
3 o s o]l :
" 534" || 38"
1-13/4" 9" 9" 63/4"
310" (SHAFT LENGTH)

PLAN

BEVEL PINION AND MACHINERY BRAKE SHAFT ASSEMBLY

SCALE: 2"=1"-0"

(1) ASSEMBLY REQUIRED - AS SHOWN
(1) ASSEMBLY REQUIRED - OPPOSITE

9.969" O.D.

7" DIA.

’—— C.L. SPAN & PIVOT PIER C.L. MAIN RACK PINION
14'-4 21/32"
N 53
/ 62
\/\/ \1__[_7_< ! , ! —1——rj \j/
| |
o ) F—~——235
) | | T
=il =
Y |
| —
63/4" | | | 30
—| ==
| ]
1.873" | J L i)
‘ f Tr - 57
| l/1 I
/§ ,
| 29
[ \
— - 7/8" X 7/16" T ST \
KEYWAY — I | Immi
1\
—_ i | 30
58A [T |
. —| !
<t \JX/ | | I
O oy ‘! | 1 )
- | g i Il F=— 35
SIv 0 14c-1g L
o _ | -
| |
BEVEL PINION 25 e | | | | ‘.
SCALE: 2"=1'-0" I ’g::_% I ‘
18 TEETH - 2 D.P. ]
9.000" P.D. - 20 DEG. INV. 53
PITCH ANGLE = 14 DEG. - 14 MIN. L

ROOT ANGLE =12 DEG. - 25 MIN.

DRILL 1/4" DIA. HOLE THRU HOUSING

DRILL AND TAP FOR GIANT BUTTONHEAD

MACHINERY BRAKE GREASE FITTING (ALEMITE NO. 1823-1)
1l_2|| 1l_2|| 8 1/2 1]
C.L. BEARING B1 C.L. BEARING B1 DRILL AND TAP SHAFT END FOR
(INBOARD) (OUTBOARD) (3) 7/16" DIA. H.S. CAP SCREWS 114" 3 3
1/8" X 45 DEG. 7/8" KEYWAY 7/8" KEYWAY ;r , WITH LOCKWASHERS
YO
CHAMFER (TYP)) =|a
(]
E | [ ;
_) | — — ) _
| | | .
< < < < < S
?N 4" :Dco 53/4" ?N :Dco 53/4" ?N _ <
<|Z <| g ©|Z <| g <|Z S
o (49} N~ o (ap] ~— J 000
™ 1-13/4" ™ 1'-6" ™ ™ 3/8" ™ -
o
3'-10" —
<
MACHINERY BRAKE SHAFT
SCALE: 2" = 1-0" DRILL (3) 15/32" DIA. HOLES N
THRU KEEPER PLATE FOR 3/8 " § 3/4 "
MACHINERY BRAKE SHAFT —
= . /@ - <
¥ O ( ( _ ] o 1/8" RAD. —
<~ m -
N - [Te)
P A j |
(@] |
'\'LQ ; |
~< _
6 1/16" RAD. — ©
KEEPER PLATE
GROOVE DETAIL
SCALE: 3"=1'-0"
DRAWN BY: __JAG/MS DATE : 8/8/2016 SCALE: FULL SIZE
CHECKED BY: __GAF/RH DATE : __8/8/2016
DESIGN ENGINEER OF RECORD: _JAG/MS DATE : __ 8/8/2016

N
SIDE ELEVATION

C.L. MAIN RACK PINION

32 —

— | | _—
RN ST s S I S
| |
SIS
A /<>|I é@ I|C>\ -

L : | | | :

—T T | | i
SOl © Q)|
32 — J L &

31— 4 Eg
1 r N
o o O II © II Dllo o
! —_ ! | | | ! !

— . | | — —
o O o 0O
\\CDAH @ 'LQ/

31 — J | L
A o | 2
bodeoh ]S
z z
N
FRONT ELEVATION

BEVEL GEAR AND MAIN RACK PINION ASSEMBLY

111/2"

SCALE: 2"=1'-0"

(1) SHORT ASSEMBLY REQUIRED - AS SHOWN

(1) LONG ASSEMBLY REQUIRED - SIMILAR

— SUBDRILL THRU BEARING HOUSING

NOTES:

MATERIALS SEE SHEET NO. M-6.

DETAIL SEE SHEET NO. M-5.

FOR (4) 3/4" DIA. H.S. TURNED BOLTS
45/8" 5"
1ll 3/8 n
143B —\
=\ | =
< [ 1o <t <
a Al o Olo O«
- @) = — = 1O = | Z
S - 3 ¥x 9w
= N~ e ™ =
N~ A Yo} ™ <
P i
S \\ 143A
Y/~
@ é‘ — DRILL THRU AND CTSK. BUSHING
DRILL AND TAP HOUSING FOR
COLLAR BEARING ASSEMBLY (6) 3/8" DIA. SIL. BRZ. CAP SCREWS

SCALE: 3"=1'-0"

€

Hardest
&Hanov}ér

engineering that moves you

DocuSigned by:

BFEC5720F8F14B0...

1. FOR COMPONENT QUANTITIES, DESCRIPTION OF WORK AND

2. COLLAR BEARING BUSHINGS SHALL BE PROVIDED WITH
MACHINED DOUBLE OVAL GREASE GROOVES. FOR GROOVE

3. BEARING-B1 BASE MOUNTING BOLTS SHALL EXTEND
THROUGH THE TOP AND BOTTOM FLANGES OF THEIR
RESPECTIVE SUPPORTS. HOLES THROUGH TOP FLANGE
SHALL BE TOLERANCED PER THE GENERAL MACHINERY
NOTES. HOLES THROUGH BOTTOM FLANGE SHALL PROVIDE
1/16" CLEARANCE.

4. SHAFT COLLARS ASSEMBLED ON MACHINERY BRAKE
SHAFTS SHALL BE ALIGNED FOR A CLEARANCE OF 0.010" (PER
COLLAR) WITH BEARING B1.

PROJECT NO. __ B-9936
TYRRELL COUNTY
BRIDGE NO: /

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

TURNING MACHINERY

72

DWG NUMBER

TOTAL DWGS
90

e, DETAILS

ot Reynal ds :\\\;‘;‘/\-3555':';0?5 :;, 3

SFF SEAL AT

p— [ ) [ ) -—
9/14/2016 :’/"’o.'-@(,:,%%: ', S ALL I GATO R RIVE R

AP SWING SPAN
11 W
" REVISIONS SHEET NO.
NO| BY: DATE: NO| BY: DATE: I\/I -5
CosuT KT coNgpereD [ 3
SIGNATURES COMPLETED 2 a SHZE?E)TS




		2016-09-14T09:13:04-0700
	DocuSign, Inc.
	Digitally verifiable PDF exported from www.docusign.com




